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Intermediary 2
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E-money Interbank Settlement
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n.a.n.a.n.a.~1,200~96,000U.S.A.

2,6001,163��กกKJ� 0.182/79475,710Thailand

n.a.n.a.28300,00020,000,000Netherlands

208,67158,00070.860,00060,000,000Germany
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1.  MicroCash���� DBS Thai Dhanu + Microbus

2.  SCB Smart Card���� SCB + Chula

3.  CP Seven-Eleven���� CP + BBL + KTB 
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dVC =  -dCC (7.5) 
!�ก (7.4) 7�$ (7.5)

dCC = - rdD � rEM dEM � dE. (7.6{)
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7;��J� dE = 0 7�$ dEM = -dCC ��U� (7.6{)
dD = - [(1 � rEM ) / r] dCC (7.10)

7;��J� (7.10) ��U� (7.3{) !$%�*
dM3 = - [(1 - r - rEM) / r] dCC (7.11)

!�ก�*�-��+�;/ KJ� dCC = -dEM ��/�� (7.11) %�*�:n�

dM3/dCC = [(1 - r - rEM) / r] (7.12)
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 �������� M3 rEM rEM = 0 rEM = r rEM = 1

M3= CC + D M 3/ EM = (1 � r � rEM) / r M 3/ EM = (1 � r) / r M 3/ EM = (1 - 2r) / r          M 3/ EM = -1

M3 = CC + D + EM   M 3/ EM = (1 - rEM) / r M3 / EM = 1 / r M 3/ EM = (1 � r)/ r M3 / EM = 0
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(��JK� : �*����;) r = 0.06,                     r=0.06,               r =0.06,
rEM= 0.01, rEM=0.06,  rEM=0.50

Multiplier 16.5                                15.67                     8.33
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Multiplier                     15.5                      14.67                     7.33
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20 ��; 12,523 0.48 20.26
50 ��; 7,181 0.27 11.61
100 ��; 52,548 2.00 85.50
500 ��; 121,927 4.68 197.23
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